Hookes Law
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Hookes Law describes the force created by a spring due to it's compression or Elongation.
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The force created by the spring can be approximated for small deviations from rest state with a linear
function.

Fs = kx

Fs (N): Force from the spring
K (N/m): Spring constant (Unique for different springs)
X (m): the displacement from the rest state (can be negative or positive)

Example: A spring suspends an 50g object in the air on earth. The spring stretches 11cm from it's rest
state. Calculate the spring constant for this spring.
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A 500kg object traveling at 30km/hr on a frictionless surface crashes into a giant spring. In 0.2seconds
the object comes to a complete stop.

a) Calculate the average force being exerted by the spring on the object.‘"r / A
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c) Describe what will happen after the object comes to a complete stop.
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